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I 1 Differentiate between average, instantaneous and free fall acceleration as mentioned in the book 64,75 I
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2 Apply the equation of motion relating the final velocity of an object to its inftial velocity,
uniform acceleration, and time (v = vi + at}

problems 5,6 67

4.0 M/S e pladU dgouad) Lgne o o alew )b 25 WD
e 4.0 5 o laze o) Jold Jus e 36 M/s
' Clagisl) Lee sl

Ve—=V, 36-—4
f i 3
V.=4m/s = = = 2 lo
; / a v 2 8m/s* el
Ve =36m/s
At =4s

oo dmlad) Aludd! 3 3a,lp)) o) 35l dew Jus .6
Sdavgiad) lge )l L3 .3.0 5 s 15 m/s JI m/s 36

Vi =36m/s
Ve—V; 15-36
Ve = 15m/s 0=tz = —7m/s? Gl
At 3
At =3s
Jaiicsy Lesscy 25 M/S dc juw vyl slasl alsls ;o .7
3.0 5 aa alalod) cadgn Jol,al) Jle @l
Sdal,all Lle dasal (L3 alslol) adawgndd) ¢l L @
288 . cabgnn) sl eyl caas aldlod) o8 sl 13) Wb
- PPEN | BLRESPST [P BV [P | P [ DO Nt
— Ve=V; 0-25
V; =25m/s (a) a4 = T = —83m/s? B4
At 3
At =35
(b) Ve=Vi 0425 .
— — — —42 (P
=T A 6 m/s” B
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3 Use appropriate significant figures to record answers from a mathematical operation, with
the correct number of digits

problem 12

530 US (o geanall 4 ginall 28,¥) 220 aladiuly 406 Jilesadl Ja 4

a)108g—8264g=25¢g
b) 475m —0.4168m =433 m

¢) 139 cm x 2.3 cm = 320 cm? 3 3.2 X 102cm?

d)13.78 g /113 ml = 1.22 g/ml
e) 6.201lcm + 7.4 cm + 0.68 m(68 cm) +

12.0cm =93.6 cm

£) 1.6 km(1600 m) + 1.62 m + 1200 cm(12.00 m) = 1614 m

I 4 Differentiate between distance travelled and displacement

(A) 4cm (B) (A) 4 5w
d=4cm
d=4+2=6cm Ax
Ax =4 cm
Ax =45cm
(A) 4 cm (B) (A) 4 cm
Ax 2cm
4 cm 4 cm
(D) (C) (D)

d=4+2+4=10cm

Ax =2cm

| figure 10

40 I

rn ) dadeiy A duill bl J ke () dibadl)

Ll s ) Aoyl A5 (e agisa ol 3 jlua el (Ax) Aa) Y

(B)

2cm

(€)

(B)

2cm

(C)

d=4+2+4+4+2=12cm

Ax =0
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Sibgaiadl ol Jls
a8 A T
L,z 2 km L,: 5km sl
A=A+8 R=A+8 ad - -
=5 Km + 2 km = Lk TKM
=7 km
Silgacdl £ dad B,
A ala iy
b, 4 km L
R=A++8 R=A+ 8B
=—A+8 =—4 km + 8 ki B
= o =+ 2 Kkm
=2kmib, th, 2 4 ke
Bz 2k dhao
B g da
B, 7km La¥)
R=A+8 R=A+ 8 =3
=—A4+B =—7Fkm+4 km »
= — 3km B
=3 kmbi 5,4 4 km

b B3 kM sleama

Apply the equation of motion, (xf = vavgt + xi) or {xf - x = vavgt), in numerical problems to
calculate the position or other physical quantities

exmple 4 50

oty B dazil las) sas padiae Gosds Jsb e Bd e &b a3 @le JS)) pae adsed)
SC adan) 350 Lo 30 S 45,0 a0y Calazdl J) Juayy b2 12 M/S dlagze e pws L) B Gl

V=12m/s t=3s
x; =46m
C,s 48 A
o m= X
$=x¢ xf=Vt+xl-

xp=12x3+46=82m L2
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I b List the common steps of scientific method used in investigations

figure 2

AS S 3003 J bl syl (§ dagiall blasYI 1 alall zgial]
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7 Apply the alternative equation of motion relating an object’s final velocity to its inftial velocity, its constant aceleration,
and its initial and final positions {w2f = w2i + 2alxf - xi))

problem 16

ag I

g Byhol gzei ol Of (AR ke Al gar Byio 920 5 (S Iagane Lo S )yoni
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a=—0.50m/s? (@)
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Vf = Vi + at
(b)
Vp=2+4+(-050%x6)=-1m/s
Cdd Ao Dl § . Jo¥I Al § 8,5 dgaxial! ds udl B
() i )

S ol Jiud £yl § iy o5 Cddgs o 8yS) de

I 8 Apply the equations of motion for objects under free fall to calculate the unknown parameters problem 43, 44 78 I
— B —

il wiea el 3030 e 655 dle e 43
fiea b Lpaldad 5l aie a5 jod de e 3l o5 3.5 M,
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I 9 Describe the motion of an object if its velocity and acceleration are either in the same as mentioned in the book 5L

directions or opposite directions, hence state if an object is slowing down or speeding up
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I 10 Define and calculate the average acceleration

problem 12 67 I

x(m)
L
15
/ £(s)
A
—-15
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I 11 Compare and contrast precision and accuracy with examples figure 11 15 I
S

oo Sl gl Silelyall O8I (8T) duio deS) Caliseall luwliall 38195 days tlasall o

(Land grtans

- ool (@ dodsiuall diyylally el 815 e S e )l dainy @

lacs ST OB Ligine alByl ASI Lilg=dl OS LS @

ez ST oluldl 095 Judd olulall o lasdl juela 9SS @

s ST Oluldl S8 ol eady s I3 BV B LK e

BV § )b il dasd Caa Sl (Lasdl Liela 91 ) Lulid)l Japsg @

Mr.: Abdullah Ali

Al Ain Phone: 0547988170




pEiall il 1 apall

sbpall (3 el 8,5k

2023-2024 J9Y! Juadl sbpdll S dnrlye

dadll (o Sl QLI 1) "Audaonll” dosdl) o ol S B Sk J) s 181 0

ol Lo gidll
D
R
e

(ool dovouall

S 9l I M)l dwld I (bl Jobo 0813
Lué ABullg Jaua)l (Sue Lad sl psdl dwld LS 14.8 cm
¢ Jodxdl (3 8oyl gl A3 Ml leolid

mela oY s ;8YI I Il bl o
JoVl LIl @lwld Wi +0.1 cm o)ldie Uasl
0.2 gyluie lasdl iwola Y Uas J8T » 3WI
cm, £0.3 cm

BNl uld Of dosd wluld)l Jaugial Hlai5 o
By Jol eIl Il peldg d3s ST

I 12 Calculate the displacement as the area under the curve of a velocity-time graph | problem 3 70 I
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"180
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Area=Ax=75><1=75m‘=wa

Area = Ax = lw =Vt,

Area =Ax =75%X2=150m ‘aLaUJ
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E 20
§ 1571
2 ik 1
Area = Ax = =bh
5+ 2
6 . )
0 1 2 3 4 5 6 X
Time (s) 1 1
Ax ==vt==%X30X6 =90m
2 2
ay Aa) ) sl o 105 Uga 9 psdd) Aa) ) Qs
Y4 255 L9
30 T+
w % Area = Ax =lw =Vt,
é 20 A
£ Area = Ax = 25X 10 =250m
g 10 A by
5 1 Area = Ax = lw =Vt,
At
9 5 10 15 20 25 30 x Area = Ax = 25 X 25 =625m
Time (s)
4 dxy J 4al ) |
i 258 )5 e 2 auall ds) ) s
70 +
% 60 i . R R
£ Julaiisall dalise + Euliall dalise = 4al HY)
2 %
20 e 1
10 N x Ax = (E . t) + (v.t)
% 5 10 15 20 25 30 X
Time (s)

1
Ax=(§x40x25)+(20x25):1000m
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13 Classify physf:al quantltle.s into vector and scalar quantities (distance, mass, displacement, a4 rientionet ini the hook 38
speed, velocity, acceleration, force, work, energy, pressure}

Ja jluie lg) &30 S (B 1(draa)l) L)) d3byall LSl o

— Bylymedl Ao — Jicdd! — Jnigall — 8Uall — dlaws grall de ) — ALK — d8linall 1 Jie ©
Byl - Ll B — 8ledl s — BeldYl B — Jgkall — cye3)

olaxily jlde Lg) AsLd LS p 1dgaiall AsLpall L) o

o)l 4sS — 48| — A1) = dgaitel] dedl — gyludll 1 Jio O

I 14 Recognize uniform or non-uniform motion from a motion diagram or a particle model figure 2 61 I
— —

-3 338 : kAR
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(Al e e ae)

dolatin pt dSy> eunaell Jyoty
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I 15 List the seven fundamental base quantities and their 5| units table 1 10 I

s =
Slassll Jsud) allacd) 8 Lolasgs dulu¥) SlaSI 1 Jpaad)

K alS 35\ ,0d) gy

mol Joo asld) aS
A sl bt L)
cd dais delad) 30

Identify the shape of a position-time and velocity-time graph for an object with constant

acceleration
Interpret the velocity-time graph for a single or multiple objects in motion

0 M/s ¢y sl oS Cpall olndl (§ ol Syl pudy gomw Gkl euitiane Sldital (§ J55 8yl
12 5 D= 25 m/s JI Juais
8)land! dSy2d V-t Lile Loy ooyl LA
12 s drowyll 8 Aa)l M5 8yled! d) dodsed db..d\ P““J'” pdSiwl B
Jio daadd o3l IS gends ALl adaisy g madl Gaydall sliiel i e (653 B3lew pud .C
8yl ! 008 ASyod V-t Wil Lowny oyl A0 dgnio deun SJ9 (J 9V 8l
)bl Agmiall Al g3 (S 780

vam/s) | (a) (®)
S9lud L“S."":‘AJ‘ Jaw! 2&:>Lu~oJ|J§$

1
Area = Ax = Ebh

1 1
szzvt=§x25x12=150m
t(s)
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Ax 150
=——=125m/s

120 () M= =
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Represent data in graphical form, draw the best fit line, and identify from the shape of the
17 graph if the relationship between the variables is linear, quadratic or inverse
Find the slope from the graph of a linear relationshi

as mentioned in the book 20-22

sallsd) ail) okl al=S 4 Jgaalt

19.4 1.0
3846 20
58.1 3.0
774 40
96.5 5.0

(g) ats)) (cm?) o)

100

o

1 2 3 4
{CM?) gosJi

dasJl Jeod Vaisie Ve

N V) P 0 4...._14 r:L:-._>Y \_l;SJ' g._._".‘ 4 J"\",‘J' D 90 .21

iingel) paall a3l e pasd! Jolae alzsh Ji, @
peend dmllas Jad¥l vl pu)ly Jaaxd) B
dola)

el gasadt i b

aSeew aliS oo a3 g9 Lo o ald) pu U Lasy €
o3 pallsdl il

Slasgll o) S L) a ) 1ig o) a3 L o d

—— aJ! p.MJ aJlas alzs) C;.ag} adalzs S| €

sallsd) c.alll

uaS) f

Lodiiae Uni iniall Gias ()

A 8l ) G ek A8Dle ALK 5 aaal) oy A1) ()

(d)

X —x 5—-1

(e)

M\:M\Xpaz)\
m=193V

(f)

axall 324 3

=19.3 g/cm3
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y=mx+b

5 10 15 20 25 30 35
(g) aL:si

lydogiw puyy 5,5 Jogiuw allie

I I . S "4
ik EENEEENAN 531 kil qoge e it ey Lgedg tduan il 433l
2 Y T
E AT y=ax*+bx+c

4 |

0 o; 08 12 16 20

(S)Q_n}.ll
Joosll Gais e sl o 423
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Apply the equation of motion relating the final position of an object to its initial position,
18 initial velocity, uniform acceleration, and time

example 4
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Vi=0m/s V% = V;® + 2alx

Ve =25m/s
25%2 = 0+ 2 x 3.5 X Ax
a = 3.5m/s?

Ax = 89.3m

I 19 Define and identify independent and dependent variables for a given data set

as mentioned in the book
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Interpret a position-time graph that represents the motion of a single object
20 L > = 2 example problem 2 44
Interpret a position-time graph that represents the motion of multiple objects
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A worker in steel factory needs to write down the temperature of the steel rods
using the SI unit, which one of the following units he should use?
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What is the number of significant figures in the number 0.00040207?

§0.0004020 saall 3 Lginall pl8)Y1 s Lo
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A car travels a distance in 6 s, if its initial velocity s 2 m/s and its acceleration is
2 m/s*, how far does the car travel?

e e2 m/s? lgeylads 2 m/s d50anY) dgadiall e CIE13] <6 5 OIS dbluse 8yl alais
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Ax = v;t +Eat2

Ax =2X6+05X2X6%2=48m

48'm 05

14m
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